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S29
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H17 5193 H18 5193 H19 5374  H20 5402
H12 H17 255290  H18 238247 H19 225635  H20 220,665
H17 3886 H18 4077 H19 4000 H20 4489
H17 9149 HI18 8925 HI19 11126  H20 12,623
H17 61 H18 54 HI9 50 H20 55
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20 19
(A) 409,475 (387,914) 189490  (189,813)
(B) 432,441 (422,565) 58353  (59,554)
(A)-(B) 22,966 ( 34651) 131137 (130,259)
13,007 ( 25073) 0 0
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18 19 20

(A) 381,499 387,914 409,475

8,594 9,045 9,067

82,406 92,371 73,497

290,499 286,498 326,911

183,752 189,813 189,490

(B) 397,896 422,565 432,441

197,124 223,117 199,249

197,124 223,117 199,249

14,233 13,598 13711

200,772 199,448 233,192

4,500 4,500 4,500

187,316 178,400 209,688

(C)=(A)-(B) 16,397 34,651 22,966

(D) 19,796 20,431 21,297

(E) 10,968 10,853 11,338

(F)=(D)-(E) 8,828 9,578 9,959

(G)=(C)+(F) 7,569 25,073 13,007

(H) 45,033 48,373 40,239

()=(G)+(H) 37,464 23,300 27,232

Q) 681 4,344 966

(K) 761,437 761,404 764,320

(L)=(3)+(K) 762,118 765,748 765,286

(M)=(G)+(J) 6,888 20,729 12,041

(N) 792,590 794,185 754,564

(0)=(M)+(N) 785,702 773,456 742,523
18 19 20

1,342,206 1,295,799 1,245,976

1,120,318 1,078,735 1,030,848

15,129,715 15,831,941 16,226,115

31,200 31,200 31,200

15,098,515 15,800,741 16,194,915

16,471,921 17,127,740 17,472,091

42,990 28,233 27,962

36,012 24318 24,054

15,642,382 16,324,924 16,700,222

40,411 39,659 39,005

157,617 168,696 167,176

15,685,372 16,353,157 16,728,184

786,549 774,583 743,908

786,549 774,583 743,908

16,471,921 17,127,740 17,472,092




